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(2] RSN D—fKIHEZ KD X.

(1)1, 2, 5 10, 17, 26,



(3] WIERLHE nHETOM S, DRD & 5 728N D—fH a,, ZKD K.

(1) S, =n?-2n

(2) S, =3"+1



(4] XOEH {a,} D—MIHZ KD X.
{an}:1, 3, 6, 11, 20, 37, 70,
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(1] RO LD 5 —KIH a, ZKD X.

(1) a1 =1, apy1 —an=>5

(2) a1 =—1, apy1 = 2a,

(3) a1 =1, apt1 =an+2n




(2] RO 5 —MKIH a, ZKD X.

(1) a1 =3, apn+1=3a, —4

(2) a1 =4, apy1 —2a, =1



(3] RO LD 5 —MKIH a, ZKD X.

(1) a1 =1, apny1=an+2"

(2) a1 =1, apy1 = —a, +2"



(4] RO LA TEZ SN2 BHNDE n HZ KD K.

(1) a1 =2, a2 =3, apnt2 — Hapt1 + 6a, =0

(2) a1 =1, ag =6, apnt2 —6ap41 +9a, =0
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(1] n ZIEDEE L T%. RDOFX - AERDID LD T & 2 BAHRNEZ W CREE &

(1) 1-2+2-3+---+n(n+1):%n(n+1)(n+2)

(2) 2" >n



(2] a1 =2, api1 = (n=1, 2, --+) TEDLNEF {a,} ITOWT, XDOFENIZE

A K.
(1) az, as, a4, as %*@i.

(2) —MRIH a, ZHEE L, BEFHIRWNIEZ W TREHE X.



[3] SRTDIEDEE n 12OWT, 320 -2 X7 TEIY YN Z Z %, BEMNIFNEZ VTR
B X.



(4] TRTOIEDEH n 122V T, FER 3" > n2 B D LD &%, BN W CEE
HHE &



